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A

In python _ is raised when
an operator is supplied with a valye of
incorrect data type.

(A) TypeError (B) NameError

(C) ValueError (D) SyntaxError

(E) Not attempted

Gram, Centimeter and Second are
measuring units in
(A) MKS

(B) FPS

(C) CGS

(D) None of these
(E) Not attempted
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The ampere-hour efficiency of a lead
acid cell is normally between

(A) 20-25%

(B) 40-50%

(C) 60-65%

(D) 90-95%

(E) Not attempted

Magnetization current in a
transformer produces in
transformer core.

(A) Eddy current

(B) Flux

(C) Power

(D) None of these

(E) Not attempted

+ 2NaX

This reaction is reaction

A) Wurtz-Fittig (B)
(C) Wurt,

Fittig
(D) Kolbe’s
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law, the
.:".u-cl;--:l]ll'ig to _ ——— I _{'ugh i
qric flux passing thre v
ose .qual to the fotd

closed sul I iy
charge enclosed by the surfa

(A) Coulomb’s
B) Gauss

(C] Fleming's

(D) Kirchoff's

(E) Not attempted

According 10 Ohm’s law, current
flowing in a circuit is inversely
proportional to
(A) Voltage

(C) Resistance

(E) Not attempted

(B) Power
(D) All of the above

Machine generating a.c. e.m.f. are
called as

(A) Alternators
(C) Modulators
(E) Not attempted

(B) Transformers
(D) None of these

Which of the following is not a
multi-user/multitasking operating
system ?

(A) UNIX

(B) Virtual Machines (VMS)

(C) Mainframe

(D) MS-DOS

(E) Not attempted

The type of earthing suitable for
sandy areas is

(A) Horizontal strip earthing
(B) Rod earthing

(C) Plate earthing

(D) Pipe earthing

(E) Not attempted
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11. Which of the following is not & tratfic 11.
sign 7
(A) Mandatory /regulatory SIgNS
(B) Cautionary signs
(C) Movement signs
(D) Information signs
(E) Not attempted
12. Which city is known as Queen of the 12.
Arabian Sea ?
(A) Diu
(B) Kochi
(C) Mumbai
(D) None of the above
(E) Not attempted
13. A 6 pole induction motor is supplied 13.
by a 10 pole alternalor which is
driven at 600 rpm. If the motor is
running at 970 rpm, determine the
percentage slip.
(A) 1% (B) 2%
(C) 3% (D) 3%
(E) Not attempted
14. Withamountofcurrent(l), resistance(R) 14.
and time of current flow(T), formula
for converting electrical energy to heat
energy(H| is
(A) H=IRT (B) H = I“RT
(C) H=IR (D) H=V/R
(E} Not attempted
15. The practical voltage source has emf | 15.
of £ volts and internal resistance is
r ohms. If it supplies a load current of
Lamperes, the terminal voltapge 1s
W E (1B) E/r
C) 1r .
E (D) E—1Ir
) Not attempted
A
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Which of the following type of
instruments are non-directional
and can be used for measuring hoth
AC and DC values of current and
voltage ?

(A) Moving iron type

(B) Moving coil type

(C) Dynamometer type

(D) Induction type

(E) Not attempted

The members of rhodophyceae are
commonly called

(A) Red algae

(C) Blue algae
(E) Not attempted

(B) Green algae
(D) Brown algae

The top and bottom horizontal
portion of the transformer core is
(A) Yoke (B) Limb

(C) Winding (D) Conservator
(E) Not attempted

In delta connected system, the relation
between the line current I, and phase
current Ly is

(A) I, =Ly

(©) 1, = V3L,

(E) Not attempted

(B) I, =1,/V3
(D) I, =31,

The average value of sine wave is
times the peak value.

(A) 1.414

(B) 0.637

(C) 0.5

(D) 1.732 45

(E) Not attempted
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Capacitance 15 a ratio o
(A] Voltage 10 voltage
(B) Voltage 10 charge
(C) Charge to voltage
(D) Charge to charge
(E] Not attempted

The term “Frosvstem’ Was first

coined by

(Al Sir Arthur (. Tansley
(Bl Salim Al

(C) James Hansen

(D) Rachel Carson

(E) Not attempted
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(D) None of these e

(E) Not attempted

The shunt resistance in an ammeter
1s usually

(A) less than meter resistance

(B) equal to meter resistance

(C) more than meter resistance

(D) of any value

(E) Not attempted

The reciprocal of impedance of a
circuit is called
(A} Resistance (B) Inductance

(C) Capacitance (D) Admittance

(E) Not attempted
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The seeds of the Internet were
planted in

(A) 1891

(C) 1969

(E) Not attempted

(B) 1991
(D) 1990

The resistance of a lamp is 10 ohmsg
and current through it is 2A. Its

power 15
(A) 10W (B) 20 W
(C) 30 W (D) 40 W

(E] Not attempted

A transformer operates at maximuimn
efficiency when

(A) Core losses is minimum

(B) Iron losses is minimum

(C) Copper losscs is minimum

(D) Copper loss = Iron loss

(E) Not attempted

The percentage errors in the
measurement of mass and speed
are 2% and 3% respectively. How
much will be the maximum error in
the estimation of the kinetic energy
obtained by measuring mass and

speed ?
(A) 11% (B) 8%
(C) 3% (D) 1%

(E) Not attempted

When two similarly charged particles
are brought near, they try to repel each
other while dissimilar charges attract
each other. This ability of a charged

particle to do the work is called
(A) Coulomb

(B) Electrical power

(C) Electric potential

(D) Electrical resistance

(E) Not attempted
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“58" is a system used in
(A) Production practices
(B) Safety practices

&l . .y i{,‘f."-:-'
(C) House-keeping pract

C ”I]g
(D) Electrical manth tu

(E) Not attempted

Haryana

i al ruler,
Under this Mughd 4
.der the control of Britishers

came ui

(A) Mohammad Shah &
[8] 2%

(B) Shah Alam

(C) Ahmed Shah

(D) Bahadur Shah Jaffer

(E) Not attempted

Which type of wire joint is found in
the junction box ?

(A] Rattail joint

(B} Plain tap joint

(C) Aerial tap joint

(D} None of these

(E) Not attempted

The average power delivered to an
Impedance (4 -13)Qb
2C08 (100mt + 100) A
(A} 44.2 w

B) 50 w

(C) 625 W

(D} 125 W
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In DC generators, the effect of the
magnetic ficld set up by the armature
current on the distribution of the Hux
under main poles is known as

(A) Armature resistance

(B) Armature effect

(C) Armature reaction

(D) None of these

(E) Not attempted

The end from which elements are
added or deleted is called __

of the stack.

(A) Top

(C) Front

(E) Not attempted

(B) Bottom
(D) Rear

Unknown frequency can be measured
using

(A) Anderson’s bridge

(B) Maxwell's bridge

(C) De Sauty’s bridge

(D) Wien's bridge

(E) Not attempted

Sign of children near road shows
possibility of __nearby.

(A) School Ex;

(B) Park Eﬁiﬁl
(C) Home

(D) Hospital

(E) Not attempted

Moradahad is famous for
(A) Brass industry

(B) Sandal oil

(C) Newsprint factory
(D) Penicillin factory

(E) Not attempted
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40. a switch is always

In domestic wirng,
placed in the

(A) Earth wire

(B) Neutral wire
(C) Live wire

(D) None of these ’l";;f

(E) Not attempted

6 ohm and 4 ohm resistors are
connected in parallel through 240V
supply. Total current flowing through

41.

the circuit 1s

(A) 10 A

(B) 100 A

(C) 24 A

(D) None of these
(E) Not attempted

42. Gurugram-Manesar-Bawal region of

Haryana is famous for the production of
(A) Pharmaceuticals
(B) Sugar

(C) Cotton

(D) Automobiles

(E) Not attempted

The equipment connecteg between th
conductor and Bround, tq )

(A) Current transformer
(B) Voltage transformer
(C) Relay

(D) Lighrim-; arrester
(E) Not attemptcd
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In a factory, the following appliances
are in operation : 2 HP motor 3 hours
daily, 100 W lamp 12 hours daily and
1000 W heater 3 hours daily. Total
amount of energy consumed in a
month of 30 days is

(A) 134.28 kWh
(B) 36 kWh %‘gﬁ"u
(C) 90 kWh O o

(D) 260.28 kWh
(E) Not attempted

The first battle of Tarain was fought in
(A) 1192 (B) 1191

(C) 1121 (D) 1091

(E) Not attempted

In measuring instruments, under
equilibrium condition, controlling
torque (T,) and deflecting torque (T )
are

AT.=T, . (B)T,>T,
(C) T.< T, (D) None of these
(E) Not attempted

What is the frequency of an ac
current i = 42.42 sin 628t ?

(A) 50 Hz (B) 100 Hz
(C) 200 Hz (D) 628 Hz

(E) Not attempted

In python, each dictionary item is a
key value pair, separated through

(A) (B) "
(C) + (D) :
(E) Not attempted
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The EMF induced in a conductor 1s
measured by

(A} Ohm (B] Watt

(C)] Volt (D) Ampere

(E] Not attempted

is switching device capable
of making, carrving and breaking
electric current under normal and

overload conditions.
(A) Fuse

(B) HRC fuse

(C) Lighting arrestor
(D] Contactor

(E) Not attempted

Which alphabet will come in the place
of question mark ?

D, K S, BL,?

(A) X (B) Y
(€C) Z D) W Exe
(E) Not attempted

Which of the following materials is a
good semiconductor ?

(A) Copper (B] Mica
(C) Porcelain (D) Germanium
(E) Not attempted

The polarity of voltage drop across a

resistor is determined by

(A) The value of resistor

(B) The value of current

(C) Direction of current in resistor
(D) The polarity of source

(E) Not attempted
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The ancient SILEs of Kunal and
Banawall m
Harvana are located on the banks of

Fatehabad district of

Fived

(A) Yamuna

(C) Ghaggar

(£)] Not attempted

(B3) Markanda
(D) Saraswati

Hvsteresis loss 1s a tvpe of

Al Copper loss .E&L

iB) Tron loss

(C) Mechanical loss
(D) Frictuon loss

(E) Not attempted

For a ‘P’ pole lap wound armature of
DC machine, the number of parallel
paths are equal to
(A) 2
(C) P
(E) Not attempted

(B) 2P
(D) P/2

A

_is used to make or break an
electrical circuit.

(A) Switch (B) Fuse

(C) Potentiometer (D) Wattmeter

(E) Not attempted

The Champaran Satyagraha was

organised against the British

(A) For increasing the salary of the
Mill workers

(B) Against the refusal of remission

of revenue
g farmers Lo grow Indigo

(C) For forcin
allianwalabagh

(D) Toprotest againstJ
Massacre

(E) Not attempted
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only the magnitude of current, ¥
taking any cognizance of 1ts phase
angle, 1s known as

(A) Over current protection

(B) Directional over current protection
(C) Non-directional over current

SFIREILERETS

111‘"1111

protection
(D} Directional under current

protection
(E) Not attempted

In a diode, flow of current is
(A) Unidirectional

(B) Bidirectional

(C) Reverse

(D) None of these

(E) Not attempted

Diversity factor is the ratio of the sum
of individual maximum demands to the
on the power station.

(A) Maximum demand

(B} Total demand

(C) Minimum demand Ef:E
(D) Individual demand Opyes
(E) Not attempted

In Haryana, Surajkund crafts fair is
held every year in the month of

(A) January

(B) February

(C) March

(D) April

(E) Not attempted
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sufedin the unit
(B) Joule

(A) Siemens
(C) Lux
(E) Not attempted

Which of the following is not 4 class

of permanent magnet material ugeg
for electric machines ?

(A) Alnicos

(B) Ceramics

(C) Silicon

(D) Samarium cobalt
(E) Not attempted

In 4 point starter, the No VoIt Release
(NVR) coil is connected in the

(A) Field circuit
(B) Armature circuit

(C) Across the supply line through a
protective resistance

(D) Both (A) and (B)
(E) Not attempted

Which number will come in the place

of question mark 7
(I
Lo

a
S5

(A) 38
(C) 40

(E) Not attempteq

(B) 39
(D) 44

Cq
63, HTcishdl &1 _ . T Ay,
(C) ©Id . oy f'"r;_,_ My
[E] ; Iy
64, FrfeifiEa 5 8 af_i'-l—m Faepy i
TR 7
(A) FfeT=hid
(B) Taufes
_(c) fafasria
(D) Fifm Hreee
(E) v

65. 4 wWTse ®ELH A aee RS (NVR)
Figal Frad Jo1 &1 8 7

(A) Fres widhe
(B) 3= |k ‘
(C]ﬁﬁm‘ﬂﬁ!ﬂﬂ%wg
She TR WTeA % IR
—®) (a) 3 (B) a1
(E) v
66. ¥ frg % T W A-h T s ¢
dEAY ey
22|13 .
(A) 38 B) 39
A€) 40 (D) 44
(E) TSt
o ﬁmﬁgﬁ-ﬁ“%mﬂaﬂm
ST R
;: Eﬂﬁ (B) ¥t =
R (D) ¥ meft

(E) St



68,

69.

70.

Tl

72.

A

Join Telegram Group "HaryanadJobs.in" T Ay,

it‘l:—‘:{.’rT

is used 1o
»al end

» r(
element to the queue at the

(A) DEQUEUE  (B) QUEUE
* “1TE
(C) DELETE (D) ENQUEUE

(E) Not attempted

Radiation is a _—— hazard.
(A) Physical

(B) Chemical -'gr -

(C) Biological E tﬁﬁ

(D) Mechanical
(E) Not attempted

Python allows us to join two strings
using concatenation operator plus
which is denoted by symbol

( A] + [Bl “©n

(C) $ (D) %

(E) Not attempted

Tree system of wiring is most suitable
for

(A) Godown wiring

(B) Industrial wiring

(C) Domestic wiring

(D) Multi-storied building

(E) Not attempted

For all practical purposes,

potential
of earth is taken as
(A) Infinity (B) Z
(C) One

(D) None of these
E) Not attempteq

a new

. x ~ t i
68 - T _}' 11‘]1 -11 '-‘l';‘i n ”'}- :T'.T" —— ﬁ
) N |-|

feu H1 I
(A) DEQUEUE (B

(C) DELETE (D) ENQUg,
URLg
(E) FuATHa

69. fafwmm s A
(A) s
~(B) TEMAH
(C) =
(D) A
(E) Tsaméd

70. UEZA B HihieATH T T 5w
0 o1 g o et 29 1 3w
) + (B)
% (C) $ (D) %

71. IR i H el s fou waw
JYH B 7
(A) Trem = FrEf
(B) freifirs arafo

72. ¥ AR RS Ryl % fou gedt #
TR #1 e =y & frm I g
() AB) A
(C) &= [D}gﬁﬁﬂﬁm
(E) TartEa

-16-



e
73. In the tollowing question two

statements and two conclusions
piven. Read the conclusions and

decide wlich of the p'i\_'{-” v“”"i“f‘iiﬂnq

Jogically follows.
Statement : B < 0 =R <N,
R=A=>T=g
Conclusion : . E > N
II. B>T )
(A] Only 1 follows EI.,‘:,%

(B) Only II follows

(C) Neither | nor II follows
(D) Both I and II follow

(E) Not attempted

A transmission line is said to be an
ideal line if

(A) R=0,G=0

(Bl RG=L/C

(C) With a large value of R and G
(D) RG =+C/L

(E) Not attempted

7.

An energymeter is
instrument.

(Al Recording
(B) [ndi{:ating
(C) [ntegrating
D} None of these
(E] Not attempted

76, In python

Join Telegram Group "HaryanadJobs.in"

Create 3 |igt 1 o us
- ate g |ist r:ontaming as g
L INtegers from the gi e

“alue), wity ding stop
Step valye 4 differepce of the given
| A‘] ff_l]‘
C) while (B) l‘ﬂnge}
) Not attepy, contip,,
-17-

73,

freiferfam oy .
o omu & | i i.T:q:.;‘T“ e,
,'jh= CAIE e HIH-a7 h"'l-.'?n RL
AT A A |
FHE DB <0-R=nN,
R>A=T-=L
Frerd . 1 E>N
. B>T
—AA) FEA | FTE T R
(B) I 11 FTHT a7 2
(C) AT 13 & 11 3 = 2
B} 3R 11 241 s o 8
(E) 3rorfee

(5] %4

74. wmﬁ‘m&mﬁmﬁmmm
8 afg

(A) R=0,G=0

(B) RG = L/C
(C) R¥AR G & &€ 4H & Ty
BT RG = JC/L

(E) 3v@rfa

75: FaArHte I9H0T B |
 4a) T

(B) sfeahfan

(€) fenfén

(D) $9 ¥ #r$ 7

(E) r5arfig

76. UTUNH T

=1 Iy, feu mo
1%‘?3?-\‘1:&; T F WY W Ay A w2l
7, (V1 4 A Brew) s i &
MARLLE SRS Co

(A) for _AB) range|)
(C) while (D) continue

(E) 3vafda



77.

78.

79.

80.

Join Telegram Group "HaryanadJobs.in"

is a discharge of
14 combination of
nductor

The o

electricity lhrmt;,l
0

ionized air and vi aporized €

material.

(A) Fuse

(B) Power arc

(C) MCB

(D) None of these
(E) Not attempted

Which of the following circuit
breakers doesn’t use air or gas as one
of their medium ?

(A) Miniature circuit breaker
(B) Bulk oil circuit breaker
(C) Air blast circuit breaker
(D) SF, circuit breaker

mgE
(E) Not attempted £

The Udanakootam is the
intimate group of the King in the
administration of

(A) Pandyas

(B) Cholas

(C) Kadambas
(D) Vardhanas
[E) Not attempted

is an electrical breakdown
of a gas that produces a prolonged
electrical discharge.
(A) Electric spark
(B) Air blast
(C) Air brake
(D) Electric arc

[E) Not attempteq

77.

78.

G._&ll

- mﬁﬁmm% E
gl % HAA W g
frdea 2 |
(A) FA
~B) T HTF

() uH.Hisf.

(D) 3T B IS TR

(E) waTEd
frfefea § | SH-81 7 5

qomm % &9 0 & T N F amy
HTAT 2 7

) fafosr afbe s

(B) T Heet Alhe S
(C) T SARL Withe et
(D) SF, |fdhe st

(E) ST

79. I5THed HHh WTEAhE ° T F

80.

T el o7 ?
(A) TTSY

~B) ¥

(C) wed

(D) T€

(E) s

w9 7 foreq e geom wan ¢ |

i (A) Forarch < fmrd

a9 foewre
(C) TR %

T
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f‘ ) |l !)
“D]] L)I (”l e ”1 2 I'IIOI() 1n
f,(

Ly i r
lals t
" nis ¢ htﬂmmed by
) 't[i.’ fu it
k Fle ming's right he and ra
(Al I
. e
| 's |eft hand 1
) ]-n'mlru-_.
|[3-.
F-ui rule

) Right hand thumb rule

El Not attempted

The shape of warning traffic sign is
4| Circular

3) Square

C| Rectangular

D| Triangular
E| Not attempted

The simplified form of

an | |- tan_l(x —y] is equal to
y X+
n
A) O [B} Z
C) EL (D) &

Not attempted

The device that converts optical
energy into electrical energy is

(A LED
(C) Solar cell

(B) Photo detector

(D) PIN diode
lE] Not attempted

—— Is a joint formed by joining two

pleces
{

of metal edge to edge.
Al Lap joint
B Butt joint
'C) Tee joint

(E)

Not attempted

Cg
- Agy,
81. drefn fen ¢ A F) fouy, v

faerifra =1 2 T am
(A) FATET Frf?:n 74 o
¥B) AT HT A E 3y fg

(C) 34 Fm

(D) e 19 & 3R &

(E) ST

83,
w78
~1A) 0 B 7
(Cig‘ (D) &
(E) TS
84. T ITHW T HfFHa Horl B faega FAl
¥ yftafdd #ar &
(A) TS (B) B fdwe
(E) 3rnfea

85. WIg ¥ I TSl F) fe A B 7w
R 7 T B

) A g

(B) ¥ Wirg

(©) & s
(D) Fft sirg

(E) s

‘
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86.

87.

89.

Join Telegram Group "HaryanadJobs.in"

e ideal 86. 4= fé‘l'ﬁ.{d ol & oo 3uam fay o
Which of the followi;i[:nrr used for rjlrili 'Hl'ﬁ'f‘-‘l'ﬂ ‘Jf:”'_'t &l AT 117 ‘-'::u;zlr_.;,!__
' f earthing g E g hHA-H & ¢
\d]wf . wer stations ? ! A) 1 HH (B) 0.5 ¥
large PO B) 0.5 ohn (A) _ o
~ ; 0 HT
(A) 1 ohm () 10 0h™ (©) 5 3H () 10 3
(C) 5 ohm (E) : oA
£ tempted , . L
(E) Not atte . data. | 87, fam e EREAIHTAE, |
characteristics l}).lf‘blrgate at " g e qtar @ R W e 5
Among five represcﬂt t L:deration 'H’FEFT 3:11-{ Hﬁf—ﬁa ﬁlﬂ AT ? |
j’{fm under CDDSld | 3 B) Ny
which the erated and storec. (A) FTeTH 9 AT
are being B¢ B) Velocity ©) J0sd (D) Ui
& :::Eg (D) Veracity (E) FroTEd
(lg Not attempted ﬂ i
gg, FEEmEHEd WIS
Fuse is always connected 171 a2 |
to the circuit. (A) AT
(A) Parallel (B) TFI
(B) Neutral e o) sfEe
(C) Series e () et g fafre T2
(D) No such specification E) syt
ed
(E) Not attempt . $1
. uaTg B 1 A 4 Tt /8. Wl T
The sides of an equilateral triangle are | 89. TP e o 14 a2,
increasing at the rate of 4 cm/sec. ‘:l"he 3 55 W@ 21 gEh!
rate at which its area is increasing SrEhE & "G I & 2
when the side is 14 cm (A) 10 J3 a2 /a
(A) 1043 cm?/sec (B) 14 J3 adi/A.
(B) 1443 em?/sec o o, 2853 a2 /A
(C) 2843 cm?/sec gﬁi PRV
(D) 14 cm?/sec ' (D)
(E) Not attempted (E) s
Fieest Wi
In 3 phase systems, 3 voltages have 00, 3o T A, 33% S feft &
sa..inhc mﬂhgnitl:ﬁ; and frequency but 3 alﬁf%l ?R-g 2
with a phase difference . |
degrees. of =07 37t & B) 60
g B) 60 () 30 J} b
(E) Not attem t [D, 120 ' 90
i (E) e
.20-



Join Telegram Group "HaryanadJobs.in"

.gance 1S measured by
ag)Stett

L [ 1€
v ) )
F’[ .,L|'.|L {B] Dhﬂ'llﬂfh"?l
4 _.[e['
Lu'.mrﬂ‘ (D) Currentmeter
|t(11l
J||m

no weil-deﬁned
ntains internal
parate data

which have |

-, e but mat

l markings to s€
m- are called

: <;1~L1cn1red data
B L'nsmlctured data

C r~emi-sL1'1L1c:t111'Et:!l data
~ Oreanized data

E! Not attempted

g3 Which safety device should be used
while driving a two-wheeler ?
4) Helmet

B| Seatbelt

\C) Airbag

D) None of the above

E) Not attempted

9. This instrument of Haryana is in the

shape of cup containing 2 cymbals
and made up of brass

lA] Manjira

() Dholak

(E) Not attempted

(B) Taasha
(D} Sara_ngi

95. The urrent in

o 4N open cireuit is
normally very t

7Very high heey
" 41 Decause t
Fesistance of un g N

'PEN circuit is

Bl usually

- v hl[{h CNoyy o

Circuit g, UEh 0 blow the
(C) zer

(D) Sligh”'.‘l' helq
(E)

nor
Not atmem]m_:d ma)

CG - AE23
91. wfeta 1 TH B g w5 -
(A) et 1) AT
(C) AteTHI (D)) Tzt
(E) o iad
92, =g 2o fomd ®E =61 T2 A ufrfus

fre e & AR 2 del F) A Fi
¥ foqu srafes o0 = fesl = g
2, fo FHEl AN 2 |
[A}mﬁaﬁq
(B) FFE=a st
(c) Fd-wra =3
D) Hmtad S
(E) :

Q3. a—q%mamawﬂwﬁaﬁw
wmmmm?
A T

(B) Hresee

i[E]] Foiad & & g TE
(E)

94. heamon < @€ I o EIEEIN
aﬁqiﬁiwﬁlﬂ‘éﬂ?%m
AR
(E)

iy & o RReRt € B 7
95'/3?31%:@%@%@@%2

mqﬁlﬁﬂnaﬁﬂﬁm% .
@R g o T AR T B

Ly ;. “":q
T

o mqﬁmﬁém%

(c) IA

(E)




96.

97.

98.

100.

Joi ng'aegggﬁam Grg

~__is de

amount of luminous it solid
a space represented by 0n¢ u _
angle by a source having an intensity
of one candle power in all directions.
(A) Lumen

(B) Luminous intensity

(C) Light

(D) Candela

(E) Not attempted

fAux given out in

In a dynamometer wattmeter, the
fixed coil is

(A) Current coil

(B) Potential coil

(C) Voltage coil

(D) Resistance coil

(E) Not attempted

The layout of this wiring is done under
the plaster of the wall of the building
(A) Conduit wiring
(B) Cleat wining

(C) Casing-capping
(D) Concealed wiring
(E) Not attempted

The probability of happening of an
event A is 0.5 and that of B is 0.3.
If A and B are mutually exclusive
events, then the probability of
happening neither A nor B is

(A) 0.4 (B) 0.5

(C) 0.2 (D) 0.9

(E) Not attempted

1 yard is equivalent of feet.
(A) 1 (B) 2

(C) 3 (D) 4

(E) Not attempted

ugeHaryanaJdobs.in" i HHI IGHIHIL 4 T
e gifgd @1 Agdar g1 |ld grl Us
TS A1 FIU A g9 e e H fer m
wgfoaa w=Fm 6 g & ®9 4 afonfy
faran e 2
(A) 7
-m) ~gfraa seffe
(C) =isc
(D) H=geT
(E) rvarféa

97. TN Siedtet # fRr Fuse gt 2

(A) forea e
(B) &wIfea $3
~C) e Fed
(D) fetiy e
(E) vanfaa

98. 3§ qEf0T %1 A3 fafeen i far &
e % A9 T s 2
(A) FSLE AR
(B) Fte i
(C) Hftm-+fgm
4D) HHiee Irfa
(E) Irvanféa

99. TS WAl A F 81 & Wifdear 0.5 %
A B# 0.3% 3R A 3 BwER

FaTdE, ATNATEBERHA
i 2
(A) 0.4 (B) 0.5

~C) 0.2 (D) 0.9
(E) rsanféa

100. 1T e F U R |

(A) 1 (B) 2

i) 3 (D) 4
(E) Jnsenfid






